Regel: SATZ = TEIL [ und SATZ ]

public static boolean checkSATZ() {
if (!checkTEIL()) return false;
switch (getNextToken()) {
case UND_TOKEN: return checkSATZ();
case END_TOKEN: return true;
default: return false;

}
}
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public static boolean checkTEIL() {
switch(getNextToken()) {
case DER_TOKEN: return checkMREST();
case DIE_TOKEN: return checkFREST();
default: return false;

}
}

Regel: VERB = schlaft | lauft

public static boolean checkVERB() {
switch(getNextToken()) {
case SCHLAFT_TOKEN:
case LAUFT_TOKEN: return true;
default: return false;

;
}



